During the past few weeks we have revisited the characteristics of exponential equations in many
different contexts. We have recalled the facts that if b> | in an equation in the form y = a(b)*,
then the equation represents exponential growth and if 0 < b < 1, the same equation will
represent exponential decay. In class one day, a student raised the question “What if the base is
negative?” As aresult of this question we investigated what would happen in an equation such
as y = 5(-2)", for example. Students entered this equation into y = in their calculators, set the
TbiStart at 0 and the ATbI at 1, looked at the table, and quickly realized the pattern that results.
One student, however, had the table on her calculator set so that TbiStart was 0 and ATbl was
0.5. She noticed that every other entry in the table said ERROR and wondered why.

Analyze this situation and summarize your. work below. Include the conclusions that you
reached as a result of your investigation. Keep in mind that you can investigate beyond the
confines of the situation described above.
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